=LPDB

*UXSD 5R]NiDG -0 / 7\J
7N 7 7
ot -RVPHIRIRIID Z PHG\F\QIH SREIQ\ L JZIHUICID QLHEH]SLHFIQH GID -RVPHIRIRID Z PHG\F\QIH HVIHINFTQHI  LINLH) /RUDQF $IQIHVIND
HVIHINFTQHI  LINIH) /RUDQF $JQIHVIND 1GURZID GU 6\VD ODUFQ $ R $% .0 Dl
=DICFIDRQUQH . O = o 7/
7N
OHIRGRIRJLD | SIDQRZDQLH EDGDE Z
NRVPHIRIRJLL LINIH) /RUDQF $JQIHVIND
$% .20387(52:% .0
-DU
7\6]
~ OHIRGRIRJLD | SIDQRZDQIH EDGDE Z NRVPHIRIRIL 1IN
Z ! /RUDQF $JQIHVIND $% .20387(52:%
= -0 -DU
4
=
N 7N
OHIRGRRIDL
SIDQRZDQIH EDGDE Z
NRVPHIRIRIL =U . \UNNFK
7DPDID $%
.20387(52:% .
o -
IXIN GURGD
DICFLD IDN ZH ZIRUHN
A 7N 7N
< 3RGVIDZ\ PDNUDTX SHUPDQHQIQHIR 3 GHPLQDUXP PDJVIHWNH SURI
= RVIDZD $QQD $% .0 /DQIIRUI -yTHI $% .0
-oU 6HP
7N 7 7N
z BXSIHPHQIN GIH QD ZiRV\ VNYUC | 3UDFRZQLD PDJWVIHWND GU KDE ODUFIQIDN %HUQDUG 7\J
= OHIRGRRID L SDJQRNFIH *yUQIN +RUQ -DURIQD $% SIRI GUKDE 3DYIXN ORIRG\P\I 7\J
a SIDQRZDQIH EDGDE Z .0 & 7N $ 7\ .0/
N NRVPHIRIRJL GU
n * XGNIHZIF] $IQHVIND $ 7N
b203?[7)(52 =% 6XSIHPHQI\ GLH QD Z:RV\ VNYUE L SDIQRNFLH  *YUQIN +RUQ
- =o _DURIQD $% .0 &
z 7
£ SREIQ\ L JZIHUICID QHEH]SIHFIQH GID JGUIRZID = DIF
Q 1DN ODUFlQ $ .0 7/
” = RVIDIQLP INJRGQLX I DICFID INNR K
o
©




